Quadratic Inequalities

A quadratic inequality is an inequality where the highest power of any term is 2.

0 \ Look for inequality symbols <, > or <, 2>
¢ Example This is the graph of y = 2“4+ 6x + 5

We can factorise and solve to find the roots:
2+ 62 +5=0 ) (z+1)(z+5) & T}

To solve 2 + 6z + 5 > 0, we find the x values
<< whenthe graph is greater than 0 (above the x axis)
The solution is writtenasz > —landxz < —5

Tosolve z? + 6z + 5 < 0, we find the x values
- when the graph is less than 0 (below the x axis)
The solution is writtenas —5 <z < —1




